SuMPO SuMPO EPD
EPD 54TNBBES (EPD)

Z5&ES © JR-AI-25104E

SUMPOBERIEIANILTOII L

FUJIFILM

Value from Innovation

BIJOMILL EYRR A /R-ya A aH
FUJIFILM Business Innovation Corp.

A3 E/OOEEGHK

— A REAY AT IR S HEHEAE
RREHATHREXAHET-14-8

KANDA SQUARE GATE
https://ecoleaf-label jp

A3 Monochrome Multifunction Printer

- ApeosPort 3560 (Model-CPS)

(for CN)

Apeos. Apeos 0. ApeosPro. ApeosPort $&U ApeosPrint (. B IV AES KRS IR RS OB REHIZEEEETT,
Xerox. Xerox O\ 8LUFuji Xerox 0T KETOVI A OB REIEEIEERTY,

BEH
HHm1aHreY

BEX RERFE
W& A mEelsl)
ORMEEZE QFE @M@ O - R
G®RZE-UY1I)

HROBER, TELKR-ET
B : ApeosPort 3560 (Model-CPS)
FEMAHR  B/V0EEHE EPAI)
ENRIZRE : /70 35ppm (A4 LEF)
RAAMBETA. A3, 11x17"
FUYNAE=/AF VY
FEE N RIHEAE/ADF (B Fs B Eh5EA )

FLWEhEL
BELXIMWLEIRAM I R-Vavkatt
BEEMAXAGEHLVN6T B15HE
https://www.fujifilm.com/fb/

ERES JR-AI-25104E
HEAPCRES  PA-590000-Al-08
PCR# CIEYNE WAL 15
NES]S 20255108 10H

RIEEHE 2025498248
REEA R YATLRIH R
RILES 2025-FB-EL-039
IRIEE#EAR  203059A23H
PCRLE1I-DEE
REHZ% 20235 98 1H
ZER #lE B2

(B —f&AL iR AT AT F IR EHEEERE)

BoERALE BE ST
HNERIRFES

ISO14025(HE>TeAE E R UT -5 QML LIAREE

OER | Passi

*YAT LR ER I LERGAORIDB A, YATLRIAET>LEEED

AEELHE.

ZiES © JR-AlI-25104E


https://ecoleaf-label.jp
https://www.fujifilm.com/fb/

SUMPOBRIRINNTOIS A

SuMPO
EPD Il Pg e —BHEEAYAT IR
RN [} F14TNIBEEE (EPD) SRR AEXAFHET14-8
MiE S LENE D KANDA SQUARE GATE
ZHRES JR-AI-25104E https://ecoleaf-label.jp
P RPLEEY-Z it
FEREERRE | BUSERE IR ER R 2 EQ;: 5 BEZEER R
SUREE) - &5 kg-CO:zeq 4.06E+02 1.37E+01 6.57E+01 1.76E+02 6.75E+01
AV ERHIE kg-CFC-11eq 3.67E-05 2.23E-08 1.70E-08 5.76E-06 1.41E-08
EXREL kg-PO.3-eq 8.48E-03 1.94E-04 8.20E-05 5.75E-03 7.57E-05
AL kg-S0-eq 1.03E+00 9.78E-02 9.99E-02 7.14E-01 7.05E-02
HALZAEII Vb kg-CzHseq 8.98E-03 1.26E-05 6.70E-04 1.83E-03 5.36E-04
FEMERHS - 11 kg-Sbeq 3.82E-01 5.43E-05 6.67E-06 1.82E-02 1.34E-05

—REROERCETBIE1F

S1T917WAIRY MU REEER

ERERER | WESE | AR E?;B‘?% peans
BEARE—RER - IRF- (RPRy) M) 7.51E+02 1.25E+02 4.60E+00 7.26E+02 3.02E+01
AETE—REE - ITRVF-2BHE (RPRy) M) 9.76E+00 2.04E-03 1.09E+02 6.53E+02 5.73E-03
FEBFEAMBE—REE - IRILF- (NRPRp) M) 6.47E+03 4.94E+02 7.32E+02 3.79E+03 3.51E+02
EEAETE—RENE - TRLE-2EHE (NRPRy) M) 8.19E+02 1.57E-01 2.66E+00 2.77E+02 7.55E-02
KKODEEE m? 2.33E+00 8.56E-03 1.15E+01 6.90E+01 5.45E-03

HEERRCEISEMIFHR

-hEEEEFELLTEELELE,
-EAEEPHR)DIZEYFUATEELTVNET,
B GO E FERERISSER T,
-ER - R CB IR AROBR EEENERA,
EABOEAEL. IRV -RF-T0TI LVer3 28 % (SR> THE LETECEE TICEELELE,
B EENRIA AL, 182,4000 T,

1/4 x 32 (J37/8) x 19(1%) x 5 (B) x4 (B) x 12 (7 B) x 5 (£F) = 182,400%%

2D OIRIERIEIEER

HHESOMEIRI SR
-8 (EREES) Bifif 15H CAS No. ERE
@ 24 kg - _
Sus 0.24 kg - -
TIVIZUA 0.12 kg
ZotEE 30 kg ERALEZRT-IDEZXH
F3AFY 20 kg e . e - .
ETA 016 kg FRENLIL. LCIT-FR-2AIDEA Ver3.4, SUMPORESNIN SOV LB HT-Y
— Ver.1.16&fEALTVET,
A 19 kg
- AR 6.0 kg
ELREEEMR 2.1 kg e
gt 26 kg -
kol 1.7 kg
OT-YEENHEIE PCRELUVEE - EERBESBL UL,

OLLRIIOVNTUL EE - EERBCHEINLEAFERELEGEICLARHONEE A,
(BBB4EURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

